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A B C D E F G H I
Section o
at(?) 1.103 1 PH 10 (trench) 3732 1.95 y
PH 10 (trench) 3751 3.00 n
PH 10 3687 1.75 y
PH 10 3772 3.20 y
PH 10 (trench) 3687 1.40 n
ir$t 1.104 1 PH 10 3680 1.30-140 n
urm*t 1.119 13 PH 10 3759 1.10 n  ? Or perhaps Time and Event
brr¥y 1.119 5 PH 10 3759 1.10 n
1.105 20 PH 10 3783 3.45 y
1.109 2 PH 10 (trench) 3772 3.10 y
dbh*t 1.127  3,9,12,13,24 PH 10 3681 1.50 n
1.136 4,5 PH 10 3759 0.95 y
1.153 3 PH 10 3777 0 y
dbh kl ki ykly 1.127  7-8 PH 10 3681 1.50 n
dbh kl yrh 1.127 1 PH 10 3681 1.50 n  ? Perhaps also functioning to define Time and
Event?
dbh pdry 1.139 15 PH 10 3687 1.30 y  ?If KTU’s restoration is accepted
dbh spnt 1.148 1 PH 10 3759 1.00? n  ? Perhaps also functioning to define Time and
Event?
dbhm*t 1.121 2 PH 10 3727 0.60 y
dbhn* 1.121 3 PH 10 3727 0.60 y
dbht 1.142 1 PH 10 (trench) 3781 3.30 y  ? Perhaps also functioning to define Time and
Event?
dt nat 1.127 18 PH 10 3681 1.50 n
dt nat w ytnt 1.127 4-5 PH 10 3681 1.50 n
dt nat w grwn 1.127  10-11 PH 10 3681 1.50 n
hi*t 1.119 4,24 PH 10 3759 1.10 n
hil ydm 1.115 6 PH 10 3745 0.75 y
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yph 1.127 19 PH 10 3681 1.50 n ?
mhy 1.124 14 PH 10 3745 0.75 y
1.151 2 PH 10 3783 1.10 y  ?Due to the fragmentary state of the text the
function of the verbal forms remains ambiguous.
mnt 1.100 4,9, 15,20, 26,31,36, PH 10 3687 1.25 y  Note bt mntinl. 71
41, 46, 52, 58,71, 79
mspr* 1.107 14 PH 10 (trench) 3751 2.70 y
PH 10 (trench) 3784 3.45 y
PH 10 (trench) 3751 3.00 n
PH 10 3687 1.75 y
PH 10 (trench) 3781 3.20 n
mr*y 1.148 39 PH 10 3759 1.00? n  ?0rDN
ndr 1.127 2,14 PH 10 3681 1.50 n
nkt* 1.121 5 PH 10 3727 0.60 y
1.122 1 PH 10 3727 0.60 y  KTU (erroneously) restores nkr
1.153 4 PH 10 3777 0 y ?
nskt ksp w hrs 1.105 22 PH 10 3783 3.45 y ? Or perhaps Commodity and/or Personnel
Sr()* 1.109 5 PH 10 (trench) 3772 3.10 y  ? Cautiously accepting the restoration of ‘§7¢ for ‘srt
mtn rgm*y! 1.103 6,18 PH 10 (trench) 3732 1.95 y  Cf rgm of GP. According to CR, p. 354 n. 72. mtn
rgm serves a similar purpose as the kmm (repetition)
formula.
PH 10 (trench) 3751 3.00 n
PH 10 3687 1.75 y
PH 10 3772 3.20 y
PH 10 (trench) 3687 1.40 n
Slmm*¥ 1.139 3 PH 10 3687 1.30 y
1.115 9 PH 10 3745 0.75 y
1.130 8,24 PH 10 3745 0.75 y
1.138 6 PH 10 3759 1.15 y  Or perhaps a damaged form of §rp w §lm (cf. 1. 4)
1.148 10 PH 10 3759 1.00? n
1.105 23 PH 10 3783 3.45 y  Note the close proximity of $rp
1.109 23,37 PH 10 (trench) 3772 3.10 y
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Snpt*t 1.119 13 PH 10 3759 1.10 n
1.109 24 PH 10 (trench) 3772 3.10 y
Sqym 1.115 11 PH 10 3745 0.75 y
Srp*t 1.134 2 PH 10 3743 2.45 y
1.130 23 PH 10 3745 0.75 y
1.105 23 PH 10 3783 3.45 y
Srp w sp 1.105 2 PH 10 3783 3.45 y
Srp w SImm*t 1.127  16-17 PH 10 3681 1.50 n
1.134  2-3? PH 10 3743 2.45 y
1.138  4,5-6? PH 10 3759 1.15 y
1.109 10, 15,28 PH 10 (trench) 3772 3.10 y
tzg(m)t 1.148 17 PH 10 3759 1.00? n
1.105 13,21 PH 10 3783 3.45 y
*F 1.121 3,4 PH 10 3727 0.60 y
1.130 19 PH 10 3745 0.75 y
1.119 8§, 11 PH 10 3759 1.10 n Line 8: ¢‘y = scribal error for ¢ ?
Section 3
dbh (‘banquet’) 1.114 1 PH 10 3780 1.20 y  RTU, p. 405 n. 5): ‘The divine feast is the theological
procedures of the cult’.
dt (relative particle) 4734 6 PH 10 3771 1.10 n
1.15s1 5 PH 10 3783 1.10 y
4728 2 PH 10 (trench) 3708 1.55
1.143 1 PH 10 (trench) 3743 2.30 y
dt (uncertain) 7.184 9 PH 10 3760 1.00 y
m3r (DN) 1.148 39 PH 10 3759 1.00? n ?
1.123 14 PH 10 3769 0 n ?
$Sr(t) (‘ten[s]’) 1.104 15 PH 10 3680 1.30-140 n
1.119 4-5,11 PH 10 3759 1.10 n
1.105 17,19 PH 10 3783 3.45 y
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1.109 1 PH 10 (trench) 3772 3.10 y
t°(DN?) 1.105 22 PH 10 3783 3.45 y  Correct KTU’s erroneous transcription ## to ¢



	A

